
    PROBLEM SOLVING 
 
Solve the problems below.  
 
1. Loren has 5 candies. John has 7 candies. Alexander has 13 candies. 
 

How many candies do Alexander and John have altogether?        ______________ 
 
 
How many more candies does John have than Loren?                   ______________ 
 
 
How many less candies does Loren have than Alexander?            ______________ 
 
 
How many more candies does Alexander have than John?           ______________ 

 

2. Nancy has 10 stickers. Mckayla has 6 stickers. Tori has 15 stickers. 
 

How many more stickers does Nancy have than Mckayla?            ______________ 
 
 
How many more stickers does Tori have than Mckayla?                ______________  
 
 
How many stickers do Nancy and Tori have altogether?                ______________ 
 
 
How many stickers do all three of them have in all?                       ______________ 
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